H & 0l & AHS B Ml A

SA - ZE . BR() - HRAR - BES of v G o HIDE2
== 87,428,904 85,579,489 1,849,415
= 41,502,765
Jl 5,651,985
AltI 31,478,382
-l 8,795,772
25 2 JIEXE 85,747,003 84,006,581 1,740,422
= 40,989,428
) 5,651,985
AlH] 31,148,306
Tl 7,957,284
He=Xl 225,671 212,156 13,515
Jl 77,439
Al 126,097
Tl 22,135
=3 Ot8=9 484 29 154,879 146,711 8,168
Il 77,439
AltI 77,440
307 elztol & 154,879 146,711 8,168
Jl 77,439
Al 77,440
11 AMEISXAIEEXS 154,879 146,711 8,168
OAfet HE=8454 28 A2
154,879,000 154,879
Il 77,439
AlHI 77,440
Ao DI Z2 A g A SALR SXI==E(AlH]) 48,657 39,310 9,347
AlH] 48,657
307 @120l & 48,657 39,310 9,347
AlHI 48,657
11 AMEISXAIEEE 48,657 39,310 9,347
OAlet JIEZS8E A SAL SX=E
48,657,000& 48,657
AltI 48,657
GESEINIR=FS| 6.845 10,845 24,000
201 Ler23| 3,600 7,600 24,000
01 At2teltl 3,600 7,600 24,000
OWdHH XA S 600,000 600
Odals - 4=8 S Ukt A&
3,000,000& 3,000
203 =] 1,397 1,397
03 A=A 2= 1,397 1,397
Ou4 a3 A2l 29
20,0003 x20E «90% 360




2A: JIsd8s
ZH: =5 9 YN
=t HE=X (CH9: &S1)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O S $#HAF Hef & K&
1,152,000 *90% 1,037
301 LEtBEF 1,848 1,848
10 AR =RRABAS 1,848 1,848
O=Xe AZ=eRe FA
, 0003 = 1G22 123 1,848
HAZRISIEAl =4 4,790 4,790 0
201 B2 AL| 2,340 2,340
01 ArR222ltl 2,340 2,340
ONWEZSZAl QAT s & S8
2,340,000& 2,340
203 YRF=&IH| 450 450
03 A FRIHRFAIY| 450 450
OUHEFTA RFX
500, 0002 *90% 450
301 LB F 2,000 2,000
11 HAAHIXIE S 2,000 2,000
OWAZIBEAl =RIEHE &=
2,000,000& 2,000
GEHH 2 &5 X2 10,500 10,500
307 212+01 A 10,500 10,500
02 QIZtAAAIEE R 10,500 10,500
O & s2&8s X
10,500,000 10,500
IHE=AX 16,265,170 16,495,415 A230,245
= 4,870,432
| 5,574,546
AlHI 3,706,230
-4l 2,113,962
IIEMEH 29 684,680 684,680 0
| 342,340
AltI 171,170
4| 171,170
307 QIZt01A 684,680 684,680 0
| 342,340
AlHI 171,170
=l 171,170
05 QIZtRIEr S 684,680 684,680 0
OJI=dH 29 K& 684,680,000& 684,680
| 342,340
AltI 171,170
sl 171,170
JISHEE SAEL SREE K& 4,500 4,000 500
AltI 4,500




A OSSN
B @ o JET
el JIESX (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 4,500 4,000 500
AlHI 4,500
05 git?(& = 4,500 4,000 500
OJIEHE SALL SXZIE XIS
4,500,000 4,500
Alt] 4,500
SSF0tU=sE 2 386,358 386,358 0
Jl 193,179
AltI 135,225
-l 57,94
307 gl2to| & 386,358 386,358 0
Jl 193,179
AlHI 135,225
Tl 57,954
05 212t S 386,358 386,358 0
OZs=0tL=sH K& 386,358,000 386,358
) 193,179
Alt] 135,225
Tl 57,954
SSFOILI=sE SAEL Xy 2124H| XI& 4,469 4,469
307 QI2H0| & 4,469 4,469
05 2I2tRIE S 4,469 4,469
OZS|0tLIsE SAEA Xt e124d] X1
4,469,000 4,469
SSF0tU=sE &4 55,000 55,000
401 AIEHIZ SR OHYI 45,000 45,000
01 Al&HI 45,000 45,000
SSS0tLi=sH cl2g8d
45,000,000 45,000
405 AHaHE = 10,000 10,000
01 ML ESFSHI 10,000 10,000
O3S=0tLisH I 78
10,000,000 10,000
orolEs XN& 4,042,401 4,042,401 0
= 2,829,681
AlHI 606,360
Tl 606,360
308 AXIMSO0IA 4,042,401 4,042,401 0
= 2,829,681
AlH] 606,360
Tl 606,360
18 SIS0t oA AS A 4,042,401 4,042,401 0
ootolss XN& 4,042,401,000& 4,042,401




A JIEE=0
B @ o JET
el JIESK EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
= 2,829,681
AltI 606,360
=t 606,360
22018 E43H AL 322,962 461,360 A 138,398
| 161,481
AlHI 80,741
=t 80,740
307 gIzHol 322,962 461,360 A 138,398
| 161,481
AltI 80,741
el 80,740
05 QIZIRIErZ 322,962 461,360 A 138,398
OU=2htdE 22usMHIA
120, 162,000& 120,162
| 60,081
AltI 30,041
24| 30,040
OUR3II=E 01Z210 IS
67,520,000& 67,520
| 33,760
AlHI 16,880
sl 16,880
OtEshtE [HH Aoge X
81,180,000& 81,180
| 40,590
AlHI 20,295
=l 20,295
OZE0I2X SHAMHIA X
34,100,000 34,100
| 17,050
AlHI 8,525
=t 8,525
OZ=0/|2X Fek2s XA
20,000,000& 20,000
| 10,000
AltI 5,000
=t 5,000
S0|2IA SHS lHH| Xt X 1,200 0 1,200
307 2I2+01A 1,200 1,200
05 2IZtRES 1,200 1,200
OZS0I8IX SHY o124d| Xt XI&
1,200,000& 1,200
FZ3HE s 6,000 6,000 0
307 QI2Hol ™ 6,000 6,000




A OSSN
B @ o JET
el JIESK EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 6,000 6,000 0
OttEahts g8 Al K&
6,000,000& 6,000
Ct=2t oloh Ss& 27,500 16,000 11,500
307 @120l & 27,500 16,000 11,500
02 QI AAEE X 12,000 6,000 6,000
OUEsHE ol=getitd =8al0l
12,000,000 12,000
05 2ItRIE = 15,500 10,000 5,500
OOtSCHESt A ItA S
10,000,000 10,000
OWe(2) 0t E AE 5,500,000& 5,500
FAERLD otse=sH N2 48,000 48,000 0
= 24,000
AlHI 24,000
301 EtE NS 48,000 48,000 0
= 24,000
AltI 24,000
01 AR 2EHSHS(RNEXRTH) 48,000 48,000 0
OHAERD OlsU=H 2
48,000,000 48,000
= 24,000
Albl 24,000
Rotg olEd 2,541,000 2,572,000 /31,000
= 1,906,000
AlHI 318,000
Tl 317,000
308 AHXIEMSOIH 2,541,000 2,572,000 A31,000
= 1,906,000
Al 318,000
Tl 317,000
18 SIS0t 4 A A A 2,541,000 2,572,000 A31,000
oxgreg o1z 2,541,000,000& 2,541,000
= 1,906,000
Albl 318,000
Tl 317,000
SEMoI= EMXIE3 472,000 535,000 263,000
AlHI 472,000
301 EtE NS 472,000 535,000 263,000
Altl 472,000
02 ARSI 2 XSG (FHAAHS, NLWE) 472,000 535,000 263,000
O=Mol= S4XES 472,000,000 472,000
AltI 472,000
ETINEEES] 500,810 500,810 0
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2A: JIsd8s
Ha: 25 U IIFK
e JIE=X EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OXNESAIE MA=H
123,057,000& 123,057
= 110,751
Albl 12,306
SAESAE 2Z 385,437 385,437 0
Altl 385,437
307 212+01 A 385,437 385,437 0
Altl 385,437
10 Al = XA EHE2FHIE X 385,437 385,437 0
ORXESAIE 29| 384,937,000 384,937
Albl 384,937
ORXNESAIE SALL SXEQIE K=
500,000& 500
Albl 500
SAESAIY EAL XEERZ XJ 15,000 35,000 220,000
Altl 15,000
301 LBBNSZ 15,000 35,000 220,000
Altl 15,000
02 ASI2EHH S (HUAHS, NSTHA) 15,000 35,000 220,000
ORXNESAIE AKX NHeE8Ea XA
15,000,000& 15,000
AlBI 15,000
SIREEIIE AlE AKX AYXIE XA 15,000 28,500 213,500
| 7,500
Altl 7,500
307 QIZt01A 15,000 28,500 13,500
| 7,500
Altl 7,500
11 AR SXAMEER 15,000 28,500 213,500
AAT AEXIE XIH 15,000,000 15,000
J| 7,500
Albl 7,500
SIREIE SXNAM HEHEZZ203 X3 2,900 2,900 0
Altl 2,900
307 212+01 A 2,900 2,900 0
Altl 2,900
11 AMSISXAIEEX 2,900 2,900 0
OtR2I1E SXA4E IEE208 X2
2,900,000& 2,900
Al 2,900
SAESAIE Ot0l==sAMEIA XA 8,000 78,651 AT70,651
| 5,600
Altl 2,400
307 QIZ2t01 A 8,000 78,651 AT70,651




SN iSRS
B @ o JET
ghel: JIE=EX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 5,600
AltI 2,400
10 Al SXAEEHE2EHI2x 8,000 78,651 AT70,651
ORXESAL 0l0ISEAHIA X2
8,000,000& 8,000
Jl 5,600
Alt] 2,400
SIRZAIE ARISRRF 212H S X 15,886 11,830 4,0%
Il 15,886
301 EtE N = 15,886 11,830 4,0%
Jl 15,886
0 AR=SR2E= 15,886 11,830 4,0%
ORZAIE ARISR223 212l S K& 15,886
Fal:] 1,130,000 x 12 * 122 13,560
Jl 13,560
=l 310,000 *1 310
J| 310
wWEH| 3,400 » 18240 816
7l 816
X2 =FH| 600,000% x12H*23] 1,200
Il 1,200
SIRRAIE AtS223 SAHI 1,848 1,848
301 LEtE N = 1,848 1,848
10 MSRREENS 1,848 1,848
OtFRAE ARI=SR2F S4Hl NS
7,0003x1E 2 * 122 1,848
JIEHE SAEK AlZEIZS2+E & 44,352 0 44,352
Al 22,176
Tl 22,176
307 glztol & 44,352 0 44,352
AlH] 22,176
T4l 22,176
05 21t =S 44,352 0 44,352
OIIZHE SAMA AlZte224E X
44,352,000& 44,352
AlHI 22,176
-l 22,176
OlOI==0| HZZ &l K& 5,100 5,700 2600
Al 2,550
Tl 2,550
307 elztol & 5,100 5,700 A600
AlH] 2,550
Tl 2,550




2A: JIsd8s
M 25 2 OHEXE
el JIESK EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
11 AR SXAMEEER 5,100 5,700 AB00
OOLOIZEL£0| HZH&Hl XA
5,100,000& 5,100
AlHI 2,550
sl 2,550
NEHEH SAER HH&H K& 10,250 0 10,250
Albl 5,125
sl 5,125
307 QIZ2t01 A 10,250 0 10,250
AlHI 5,125
-4l 5,125
05 QIZtRAErZ 10,250 0 10,250
OJIFHEH SALA M8l XI&
10,250,000 10,250
Altl 5,125
sl 5,125
Z2EEHXA 254,060 254,060
201 B2 AY| 123,500 123,500
01 A=R2teld| 3,500 3,500
O (SRS ABIEN, 2Y9IHE 2%
=2 3 3,500,000& 3,500
03 At2ZH] 120,000 0 120,000
O 'F252 ABIE K], SADNZ
20,000,000 & +63] 120,000
301 LPENF 130,560 130,560
02 NBIEZESGS(HAAS, XLTHA) 130,560 130,560
O T&=252 MotBEXl, Xd= 130,560
OHEAHZ OIOIEHIZ 14,000,000& 14,000
- HERR AAYHIE 2,000,000& 2,000
HERR HAESoi=a 40,000,000 40,000
FEE NV EEE
160,000& 160
8228 FAXAZ 74,400,000& 74,400
2 - 20t 4|8t =4 69,256, 162 67,299,010 1,957,152
= 36,118,9%
Altl 27,315,979
4| 5,821,187
JdR0tEsE K& 17,432,530 17,432,530 0
= 13,074,397
Altl 3,050,693
=l 1,307,440
308 AXISHMSOIA 17,432,530 17,432,530 0
= 13,074,397
Altl 3,050,693




2A:
X XH -
o e

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 1,307,440
183 S| 2SO ZB XA AIE 17,432,530 17,432,530 0
Ogrot2sz XI& 17,432,530,000& 17,432,530
= 13,074,397
AlHI 3,050,693
Tl 1,307,440
el 252 X 11,759,634 11,260,434 499,200
AlHI 11,759,634
308 XXM SO0l 11,759,634 11,260,434 499,200
AlHI 11,759,634
13 SI[2SOHE & EAS A 11,759,634 11,260,434 499,200
OB 282 1
11,260,434,000& 11,260,434
Alt] 11,260,434
OFcltE 4-5AI0t =0t 288 XY
499,200,000 499,200
Al 499,200
JZEEE XNE 00l 3-5H R2REEss K& 919,910 1,438,508 /518,598
Altl 643,937
el 275,973
308 XXM SOIH 919,910 1,438,508 518,598
Al 643,937
Tl 275,973
18 SIS0t 4 A A A 919,910 1,438,508 /518,598
OJ22=sg K& 0el0ld 354 2285
252 A 919,910,000& 919,910
AlHI 643,937
Tl 275,973
ot Ld=sg NA(K01Y 0I0I180tS) 799,439 799,439 0
= 599,579
AlHI 139,902
Tl 59,958
301 LEtE N = 799,439 799,439 0
= 599,579
AlH] 139,902
Tl 59,958
01 A2 HSFS(RNEERTHE) 799,439 799,439 0
OHggs+4g A2 (012/01& 0/10180ts)
799,439,000 799,439
= 599,579
Alt] 139,902
Tl 59,958
2220 (Hot=+E) XA 21,079,273 21,079,273 0
2

15,809,454
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X XH -
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 3,688,873
Tl 1,580,946
301 EtE NS 21,079,273 21,079,273 0
= 15,809,4%4
Albl 3,688,873
Tl 1,580,946
01 AR 2EHSHS(RNEXRTH) 21,079,273 21,079,273 0
OS230/(Z0I+E) X
21,079,273,000& 21,079,273
= 15,809,4%4
Altl 3,688,873
Tl 1,580,946
Oelold saAd 22Xdds N3 92,593 0 92,593
= 55,556
AltI 25,926
Tl 1,11
301 22N = 92,593 0 92,593
= 55,55
AlHI 25,926
-l 1,11
01 Al EE A S (FRNEXA) 92,593 0 92,593
O08l0ld SA9d 22N2E=s A&
92,593,000 92,593
= 55,556
AltI 25,926
Tl 11,11
AMZHIESAHIA HS K& 272,172 212,172 0
= 136,086
AltI 95,260
Tl 40,826
308 AtAIEMSOIE 272,172 212,172 0
= 136,086
AlHI 95,260
Tl 40,826
18 SIS0t oA AS A 272,172 212,172 0
OAIZEHIE S AHIA S XI&
272,172,000 272,172
= 136,086
AlH] 95,260
Tl 40,826
S 365 EelAlZHMl Olold 28 XE 163,096 163,096 0
AltI 153,096
307 elztol & 153,096 163,096 0
AlH] 153,096




2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
10 AlRISXIAIEEE 22X 163,096 153,096 0
OR4HE 365 ZRIAIMA OfRI01T 29 X2
153,096,000& 153,096
AltI 153,096
O2l01E WMw-Hl K& 93,749 93,749 0
= 56,249
Altl 26,250
Tl 11,250
307 212+01& 93,749 93,749 0
= 56,249
AltI 26,250
-l 11,250
10 AlRISXAZEE 22X 93,749 93,749 0
O0gold M4l XI&
93,749,000 93,749
= 56,249
AlHI 26,250
-l 11,250
HElold 2SR (Xz2) 4,800 4,800 0
= 2,880
AltI 1,344
Tl 576
307 @20l & 4,800 4,800 0
= 2,880
AlHI 1,344
Tl 576
10 Al SXAAEEHE 22X 4,800 4,800 0
OZ OO 20 RI0IY 2SAA(X&23HI)
4,800,000 4,800
= 2,880
AlHI 1,344
Tl 576
Qb K& ofelolE x&E=2g8l X2 17,280 21,000 A3,720
AltI 14,400
-l 2,880
307 @I2t01 & 17,280 21,000 A3,720
Albl 14,400
Tl 2,880
10 Al2ISTIAIEEE 22X 17,280 21,000 A3,720
Oelzdl K& olelold Xttt X
17,280,000 17,280
AlHI 14,400
Tl 2,880
Oelold sdsts & =ateiAtbl A& 76,850 76,850 0




A OSSN
B @8 o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 76,850
307 gl2tol & 76,850 76,850 0
AlHI 76,850
11 AMEISXAEEES 76,850 76,850 0
O0lel0ld sidsts & SstdAbl X3
76,850,000& 76,850
AltI 76,850
JZE2E2 X¥ 008 ite=249dl N 45,000 45,000 0
307 lztol & 45,000 45,000
10 Al SXAIEEHE 22X 45,000 45,000
OJIBBSE XE ORI01F XF2PH X
el 45,000,000 45,000
OR2tOIBI0IE ZcIAZ MHIA K& 366 800 N43A
AlHI 366
307 elztol & 366 800 A434
AlH] 366
11 AMRISXAEEES 366 800 A434
OO0RI0IEl0IE SelAE MHIA R
366,000 366
AlH] 366
JZEFE X 02018 =c2/& 1Ad] XI& 134,662 134,662 0
Al 134,662
307 el2to| & 134,662 134,662 0
AlHI 134,662
10 Al2ISTIAIEEE 22X 134,662 134,662 0
OJI225g A& Helold Z2la Ay
A& 134,662,000 134,662
AlHI 134,662
ZONOIE ZU2I01E XFDIIARIZAH] X2 4,800 4,800 0
AlH] 2,400
Tl 2,400
307 elztol & 4,800 4,800 0
AlHI 2,400
Tl 2,400
1 AMEISXAIEES 4,800 4,800 0
OFONOIHSOZI0IZ XI2EIIAL @12t X2
4,800,000 4,800
AlHI 2,400
-l 2,400
SOOI 20181018 E=0t HHHX| 238 XA 820 820 0
Alt] 820
307 @20l & 820 820 0
AlHI 820
10 Al2SXIAIEEE 22X 820 820 0




SN iSRS
B @8 o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHOHOIM 2018018 R0t HHEX| 2
A& 820,000& 820
AlH] 820
SHOIH(124E 0I5 2 X At 212,850 212,850 0
AlH] 212,850
307 @12t0| & 212,850 212,850 0
Altl 212,850
10 Al SXAAEEHE 22X 212,850 212,850 0
OZHotBr(1220olsh 2Ll X
212,850,000 212,850
AltI 212,850
ooy zetds = g2aldl X 479,160 479,160 0
AlHI 335,412
Tl 143,748
307 gl2to| & 479,160 479,160 0
Albl 335,412
-l 143,748
10 AlRISXAIZEE 22X 479,160 479,160 0
O0lgloly zatadd s 24l X
479,160,000 479,160
Alt] 335,412
Tl 143,748
SIEN0IE KZ(HEA) 764,075 764,075 0
AlHI 672,386
Tl 91,689
307 el2to| & 764,075 764,075 0
AlHI 672,386
-l 91,689
10 AlRISXAZEE 22X 764,075 764,075 0
Os8g0eolE X& 764,075,000 764,075
Altl 672,386
Tl 91,689
S3EOE 0 Xl Al X 64,800 64,800 0
AlH] 64,800
307 @12t01 & 64,800 64,800 0
Altl 64,800
10 Al SXAAEEHE 22X 64,800 64,800 0
OZ2380a0ld X2ld At X
64,800,000 64,800
AltI 64,800
SFuAE el2dl X2 7,215,129 7,265,129 250,000
= 4,329,077
Al 2,020,235
Tl 865,817
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 7,215,129 7,265,129 /50,000
= 4,329,077
Albl 2,020,235
Tl 865,817
10 Al2ISTIAIEEE 22X 7,215,129 7,265,129 /50,000
ONZI0IE SAHAF 14H] X1
7,215,129,000& 7,215,129
= 4,329,077
Altl 2,020,235
Tl 865,817
SSNAE MM X (EXWARIZH]) 1,271,2% 1,271,296 0
= 762,778
AlHI 365,963
el 152,555
307 212+01& 1,271,2% 1,271,296 0
= 762,778
AlHI 365,963
-l 152,555
10 Al SXAZEE 22X 1,271,2% 1,271,296 0
OO0RI0IE EXRWAHHZNEEE) QI
A& 1,271,296,000& 1,271,2%
= 762,778
AltI 365,963
Tl 162,555
SN ML KN (2REZIHEHI) 2,154,900 2,154,900 0
= 1,292,940
AltI 603,372
Tl 258,588
307 gl2to| & 2,154,900 2,154,900 0
= 1,292,940
AlHI 603,372
Tl 258,588
10 Al SXAAEEHE2EHI2x 2,154,900 2,154,900 0
OO0Igl0l& WA 22eZIidEl A2
2,154,900,000& 2,154,900
= 1,292,940
AlHI 603,372
Tl 258,588
eld| K& Oglold 2SnAl SX=E & 23,400 23,400 0
AltI 23,400
307 elztol & 23,400 23,400 0
AlHI 23,400
11 AMISXAIEEX 23,400 23,400 0
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B @8 o JEN
el & =0 4018 x4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Oel2idl K& 0el0ld EFuAt SX+=¢
A& 23,400,000& 23,400
AlHI 23,400
JZE2s2 N 0e0ld EsnA SX+=E X 1,104,000 1,104,000 0
AlH] 1,104,000
307 @12t0| & 1,104,000 1,104,000 0
Altl 1,104,000
11 AMEISXAIEEES 1,104,000 1,104,000 0
OJIBESE X ORI0IE SSTA =X
=g XN 1, 104,000,000 1,104,000
AltI 1,104,000
JZEFE XE H0lE EFuA 1255 K& 67,080 67,080 0
AlHI 67,080
307 212+01& 67,080 67,080 0
Al 67,080
1 AMISXAEEXS 67,080 67,080 0
OJIZ2ss K& KE0ld ESuA 3|
25=g A2 67,080,000 67,080
Altl 67,080
OOt 2018018 EFuA S+225¢ A& 15,600 15,600 0
AltI 15,600
307 lztol & 15,600 15,600 0
AlHI 15,600
11 ARRIS XA E X 15,600 15,600 0
OZ OOt Z20{2I01E E]UAL S22
g X2 15,600,000 15,600
Alt] 16,600
ZOHOIMZU0IE XISAH 2SZIHHHl X 3,600 3,600 0
Altl 3,600
307 elztol & 3,600 3,600 0
AltI 3,600
11 AMEISXAEEES 3,600 3,600 0
OZ OOt 2012018 XIZAt 2R2Hd
Bl XI& 3,600,000& 3,600
AlHI 3,600
olglols X 293,120 298,320 25,200
201 2= 3,000 5,000 22,000
01 At2t2lt] 2,000 3,000 A1,000
OESAIHHY 2 M& S
2,000,000& 2,000
03 A= SHI 1,000 2,000 1,000
O0R0IE #F AFTR S
1,000,000& 1,000
203 =4l 720 720 0
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X XH -
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=l =0t =408t =4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 720 720 0
OEsgRe ge=d 800, 0002 *90% 720
307 elzto| & 289,400 290,600 1,200
10 Al SXAAEEHE 22X 80,000 80,000 0
Oelzdl XI& ofeloly 24gHl XA
80,000,000 80,000
11 AMRISXAEEES 209,400 210,600 21,200
OO0eloly &l X2 50,000,000 50,000
OOeloly eyl X2 88,000,000 88,000
O0lelold sJ13801 2eldl Xd
66,400,000 66,400
Ooglold 22 A2 s A
1,000,000& 1,000
Oolglold ogtsl X2 2,000,000 2,000
Oddg, Us0elold SAal2tE s &
Bl XI& 2,000,000 2,000
ool 2X s X 57,900 71,900 A 14,000
201 fet= 3| 57,900 71,900 214,000
01 AtR2te|HI 57,900 71,900 14,000
Ost=olelold HR= 57,900,000& 57,900
Olgl0lE E=0t &EE It X& 76,000 68,867 7,133
307 212+01& 76,000 68,867 7,133
10 Al2IS XA EEE 22X 76,000 68,867 7,133
O0lglold d=0t tM2E It X
76,000,000 76,000
S3AUAE=S 2c|228E ArY 102,820 0 102,820
AltI 51,410
Tl 51,410
201 er2 3| 10,000 0 10,000
AlHI 5,000
-l 5,000
01 AtR2t2|HI 10,000 0 10,000
OZ&ENe0lE oIzl 10,000,000 10,000
Al 5,000
Tl 5,000
401 Al HIZL 201 92,820 0 92,820
AlHI 46,410
Tl 46,410
01 Al&H| 92,820 0 92,820
OZENE0IE Jlel2eE SA
92,820,000 92,820
AlHI 46,410
-l 46,410
=0ISEXNEHE 29 537,000 610,000 AT73,000
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Al 45,000
-4l 492,000
307 212+01 A 537,000 360,000 177,000
AltI 45,000
sl 492,000
05 QIZtRIEIS 537,000 360,000 177,000
OF0tSEXJHH 22d| K&
537,000,000& 537,000
AltI 45,000
=t 492,000
NE LSS (HSALY) 15,000 0 15,000
AlHI 15,000
307 QI2Hol 15,000 0 15,000
AltI 15,000
05 QIZtRES 15,000 0 15,000
ONE LI AAI (SOHBERIHIE)
15,000,000& 15,000
AlHI 15,000
glold 2ER&Hl XId 1,911,458 0 1,911,458
Alt| 1,911,458
307 gIzHol 1,911,458 0 1,911,458
Al 1,911,458
11 AL SXAMEES 1,911,458 0 1,911,458
Ooglold 2ddl XA
1,911,458,000& 1,911,458
AlHI 1,911,458
FotH B2l 6,000 6,000 0
= 1,500
=4l 4,500
FAAHES K2 6,000 6,000 0
= 1,500
-4l 4,500
S&01E2=0 X983 29 1,500 3,000 21,500
= 1,500
201 L2 | 1,000 2,500 A1,500
= 1,000
01 Ar22eltl 1,000 2,500 A1,500
O=e0I€=0 X983 22
1,000,000& 1,000
= 1,000
203 PRF=&Y| 500 500 0
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03 Al FRIHRFAIY| 500 500 0
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LA sXSA 1,623,305 1,493,146 130,159
= 511,837
Altl 330,076
=t 781,392
HALUERSOE 2 373,393 305,000 68,393
307 gI2tol M 373,393 305,000 68,393
05 2I2tRES 373,393 305,000 68,393
OZAER50Y 2Y 273,393,002 273,39
OBAURSSIOE ONETATSE M (F0!
Z0o10fl AF) 100,000, 000& 100,000
HAEY NS00 22 178,222 178,222 0
= 89,11
Al 44,556
-4l 44,555
307 212+01 ™ 178,222 178,222 0
= 89,11
AlHI 44,55
-4l 44,555
05 2IZtRES 178,222 178,222 0
OFAFYUZ0oPH0 29
178,222,000 178,222
= 89,11
Al 44,556
-4l 44,555
FAEFL SO0l SALR X 5,880 5,880 0
AltI 5,880
307 QI2tol 5,880 5,880 0
Al 5,880
05 QIZtRIEIS 5,880 5,880 0
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HAEX AL BIXIXIE 24,408 24,408 0
= 12,204
AltI 12,204
307 elztol & 24,408 24,408 0
= 12,204
Alt] 12,204
05 212+ =S 24,408 24,408 0
OB XA BIXIXI&
24,408,000 24,408
= 12,204
AlHI 12,204
FAHOSEHNE 29 N 10,000 10,000 0
307 lztol & 10,000 10,000 0
05 2IIRIE =3 10,000 0 10,000
OBAHOIZYNIY 29
10,000,000 10,000
He83AE 2AAU=SE K& 240,990 240,990 0
= 120,49
AlH] 60,248
T4l 60,247
308 AHXIEMSOIH 240,990 240,990 0
= 120,495
Al 60,248
Tl 60,247
18 SISOt 4 A A A 240,990 240,990 0
ONdEAE 2AAMES K&
240,990,000 240,990
= 120,495
Al 60,248
Tl 60,247
FarERoistBZAIE XA 1,800 1,800 0
= 900
Altl 900
307 el2tol & 1,800 1,800 0
= 900
Alt] 900
1 AMISXAIEEXE 1,800 1,800 0
OFALEHRMNFZAIE XS A
1,800,000& 1,800
= 900
AlH] 900
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307 212+01 A 167,520 167,520 0
= 83,760
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4| 41,880
05 2I2tRES 167,520 167,520 0
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= 83,760
AltI 41,880
=t 41,880
HAESEL D222 K 22,344 22,344 0
Al 11,172
-4l 11,172
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AltI 11,172
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AltI 11,172
=t 11,172
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= 17,083
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-4l 45,122
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= 117,236
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= 10,383
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sl 5,191
307 212+01™ 20,766 20,766 0
= 10,383
AlHI 5192
-4l 5,191
05 QIZtRES 20,766 20,766 0
Ostm 9 BAW 3AlH| X8
20,766,000 20,766
= 10,383
AlHI 5192
-4l 5,191
g B AU Al FIF KJAY 2,951 2,951 0
AltI 2,951
307 QIZt01 A 2,951 2,951 0
AlHI 2,951
05 QIZIRIEr S 2,951 2,951 0
Ot 2 FAE galdl It XEAY
2,951,000& 2,951
Altl 2,951
FaE SEXE AY 16,200 16,200 0
= 11,340
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= - q A
SN - BB SR(BIH) - NISAY - BES O] ot e RS2
202 Ot 33,600 26,880 6,720
01 =WHO4bI 33,600 26,880 6,720
OJ|2g2=& 4]
280,000& x20H 62 33,600
203 YR =&H| 3,240 3,240
M FA2HHRFAH 3,240 3,240
ORN2ILRFAI
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